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Duration : 3 Hours

CRIMINAL LAW -1 : Indian Penal Code
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Max. Marks : 80

Instructions : 1. Answer any five Questions from group (a) each

Q. No.

Q. No.

Q. No.

Q. No.

Q. No.

. b)

question carries 10 marks.

2. Answer any five Questions from group (b) each

qguestion carries 06 marks.

3. Answers should be written either in English or Kannada

completely.

Explain various types of punishments to which offenders
are liable under Indian Penal Code.
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Concept of Crime
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What is Mens rea ? State its significance in statutory
offences.
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‘D’ gave a poisoned apple to his wife intending do kill her
and wife ignorant of the matter gave it to their child who ate

it and died however, wife did not die. Decide.
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What is Criminal Conspiracy ? How does it differ from
abetment ?
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Q. No. 3.

Q. No. 4.

Q. No. 4.

Q. No. 5.

Q. No. 5.

Q. No. 6.

Q. No. 6.

Q. No. 7.

b)

a)

b)

a)

b)

a)

a)
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‘A’is at work with a hatchet, the head flies off and kills a man
who is standing by. Decide the liability of ‘A’ Marks : 6
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Discuss the liability of persons for the acts done in furtherance
of common intention of all the persons. Marks : 10
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Write a note on mistake of fact and mistake of law. Marks : 6
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Define Murder. Explain when culpable homicide does not

amount to murder. Marks : 10
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Wrongful restraint and wrongful confinement . Marks : 6
@B 3@ WY 9T WS,

“Assault is only an attempt or apprehencing of using Criminal
force”. Discuss. Marks : 10

D00 BT wOn NTIRNT twod @’o:b% Slao)
QOEBCINNG. 233F 0.

Distinguish hurt from grievous hurt. Marks : 6
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Explain Cheating. When does it become cheating by
personation ? Marks : 10
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Q. No. 7.

Q. No. 8.

Q. No. 8.

Q. No. 9.

Q. No. 9.

Q. No. 10.

Q. No. 10.

b)

a)

b)
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‘C’ a carrier is entrusted by ‘D’ with a television to be carried by
road. ‘C’ dishonestly misappropriates the television. What
offence that ‘C’ has committed ?
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“In all robbery there is either theft or extortion”. Explain.
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‘Write a note on Rape.
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Discuss the offences relating to marriage.
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Mischief.
D)

Write the essentials of defamation and state exceptions.
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Criminal Trespass.
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Marks : 6

Marks : 10

Marks : 6

Marks : 10

Marks : 6

Marks : 10

Marks : 6



